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What is
Intelligence?



To know, or to
understand?












Observation I / O Conclusion
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What is Artificial
Intelligence?



A Tale of Two Paradigms...
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Traditional Programming



A Tale of Two Paradigms...
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Answers

Machine Learning






Statistical Model
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Convergence

ihWeight,, = 0.01 Just right Too high

oBias; = 0.26

/

A small learning rate The optimal learning

requires many updates rate swiftly reaches the

before reaching the minimum point
hoWeight,, = minimum point

Too large of a learning re
causes drastic updates
which lead to divergent
behaviors




Old Faithful




Errors...
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Target Acquisition



Fully Autonomous Weapons




?Who Kills Who?



Hidden Dimensions
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NOTICE
TO THE WORLD

... renounce war or perishr.!
... world peace oriuntoersal deatlr!




